S5 BHAIHRENL-4—(4B~98)

R O£ # K PRZBTH 2EE Ry RV -HRE TSXFvY {FABENTH BETA
(81 ~2[0) (A1ED) (4A~11A/A1M) (B1~2[) (2RI1Z1 =) (4A~11B7A1[E)
bl ~ NS AR -KER KEE KEB KEE KEEE NEEH
X1 -B-NEASETIEOEENEDLIBELNHYET,
Xhﬁwﬂjbﬁ!_?t\ﬂi Ellﬁlruﬁa)ﬂibji)b—)bﬂ&lﬂlkﬂmﬁi’:‘ﬂiﬁ.iﬂ@tk‘)‘t‘?‘o
X*ﬂkﬁwﬂlﬁli %‘E ﬁa)ﬂ‘c‘hb\iﬂ'a)'t‘ ﬁﬁﬁ*ﬁﬁ(?‘ﬂhﬁ)l-*:&ﬂ(f—’ét\ (B85 57—2645)
ERHM (4B1B,M510A31HET)
[4A] [5A]
B [ B [ x [ Xk [ =K & B D S S - -
1 2 3 4 5 6
MZ2D
e
4 5 6 7 8 9 10 11 12 13
723 | mzs "33 = "33 NUEBE
132 T e piz T TR+
11 12 13 14 15 16 17 18 19 20
18 19 20 21 22 23 24 25 26
I52Fvo | MZD M23 %?E N2
Ry FREL H T NN H
25 26 27 28 29 30 31
maw | MAP map 735
INIRERUVREOERETVNET,
BT TANE B 108505128 T
EUR & B EREFMO Mo RIIBERN-LET
BHAANTELEVES IREENHEFTTS ;E‘H%(f—‘él,\
[6R] [7A]
B A [ & [ K x & £ = Xk T XK T & [ X ]
1 2 3 1
mz3
T
5 6 7 8 9 4 5 6 7 | 8 |
- TS5 = T35
MZ2D MZ2d MZd
% 35 AZ 35
=# sew | <® sew | <®
12 13 12 15 16 1 12 13 4 | 15 |
19 20 21 22 23 18 19 20 21
MZ2D TIS2FvH MZ2d TIS2FvH MZd
Ry FRRIL TR Ry FRRIL TR
28 29 30 25 26 27 28
mam | MAD mam | MES
RO ERBIRICSH A EEL,
SEEITREOAERN-LET, BIS ltl«,l'FU)&iB")'C‘?'o
L N X LN
s'tﬁmor_ﬁ‘*I:quaamumubmwo
[8A]
=] \ X K /N XK K] /N £ | +
1 2 3 1 2
s | MAD
9 10 5 6 7 8
_ . I52 N
J52 | ®mz23 W23
5% o 132 o
16 17 12 13 12 15
23 24 19 20 21 22
TIS2FwH MZ2d TIS2FvH MZd
Ry FREL H Ry FREL H
30 3 26 27 28 29
mam | MAD mam | MES




SH5FEE BIHIHRENL-2—(10R~3A)

W OE M K WRZBDH EhA RybBRrL-HiEE TSZRFVH EX AR Y 2EUA
GE1~2[a]) (A1[mE) (4A~11A7A1ME) (A1~2MH) (2AIZ1[E) @A4A~11A/A1ME)
INRER I ~INER IR AMER-KER JKEER KIER KIER KIER XEER
Xt A-REASECIEORENREHIBENRHBYET,
XEB(DH:'. Lj:TL'Jl.\'Cli EIJﬁILBGJH:.'lJ:To)b—)bJI&UIL ADRFANRRRIDELEYTT,
XﬂX ﬂo)lll%li ﬁ'ﬁ ﬁ'd)rﬂ‘cﬁb\iﬂ'd)f ﬁﬁﬁ?ﬂ:# (FHNIE) [CHRAHTZEL, (BEFE 57—2645)
EUREARE (4 A1BM510A31HET)
[10A] [118]
[ H X 7K X ES B [ B [ X K X
3 4 5 6 1 2
TS5 = =
f MAd TS5 MAd
2% o 7575 o
10 11 12 13 6 7 8 9
2B | RBxD W23 Mma3
B & S
17 18 19 20 13 14 15 16 18
v I52 Mma3 Mz - I52 ) INBREBE
20h | 275 o N 2r | 337 2o RARY R
24 25 26 27 19 | 20 21 25
R -
q MAd MRZ23
Ry N7
N cH =
31 26 | 27 28
Mz - Mma3
o wEm | TES
NERERCREOERETVET,
87§ AN BRT: OBASI2EET
E11% & B ($EFERT DB M5 EARIIBEHN L FET
BHAADNTELEVE S TREEUABRFTTIERIZSLY,
[12A] [1A]
H X K] H
5 6
T35
Fvo
12 13
BAE)
far
19 20
R
26 27
X K T A T x T Kk [ XK % | % |
/)
TH
6 7 8 4 5 6 7 8
IS5 Mma3 Mz "z
Fwo o far} o
13 14 15 11 12 13 14 15
ﬁz@b\ W;__i% m}% ToRIE Mz2dD
CH CH CH = o
20 21 22 18 19 20 21 22
P /) MZ2D )
27 28 29 25 26 27 28 29
) Mz I52 Mma3
b ) Foub TH




